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Basic Proportionality Theorem: (Thale’s 
theorem)
If a line is drawn parallel to any one side of the 
triangle that intersects the other two sides in two 
distinct points, then the line divides those two 
sides in the same ratio.

Theorem





Q. ABCD is a trapezium with AB || DC. E and F are 
points on non-parallel sides AD and BC respectively 
such that EF is parallel to AB. 
Show that 

𝑨𝑬

𝑬𝑫
=

𝑩𝑬

𝑭𝑪
.





Q. In fig. DE || AC and DF || AE. Prove that 
𝐵𝐹

𝐹𝐸
=

𝐵𝐸

𝐸𝐶
. 



Converse BPT: If a line divides any two sides of a 
triangle in the same ratio, then the line must be 
parallel to the third side. 

Theorem





Q. In fig 
𝑃𝑆

𝑆𝑄
=

𝑃𝑇

𝑇𝑅
 𝑎𝑛𝑑 angle PST = angle PRQ. Prove that 

PQR is an isosceles triangle.



Q. In Fig., DE || OQ and DF || OR. Show that EF || 
QR.





Q. The diagonals of a quadrilateral ABCD 
intersect each other at the point O such that
𝐀𝐎

𝐁𝐎
=

𝐂𝐎

𝐃𝐎
. Show that ABCD is a trapezium. 





Criteria for Similarity of Triangles





Q. Diagonals AC and BD of a trapezium ABCD 
with AB || DC intersect each other at the point 
O. Using a similarity criterion for two triangles, 
show that 𝑂𝐴

𝑂𝐶
=

𝑂𝐵

𝑂𝐷





Q. A girl of height 90 cm is walking away from 
the base of a lamp-post at a speed of 1.2 m/s. 
If the lamp is 3.6 m above the ground, find the 
length of her shadow after 4 seconds





Q. In Fig., ABC and AMP are two right triangles, 
right angled at B and M respectively. Prove 
that: 
(i) ∆ABC ~ ∆AMP
(ii) 𝐶𝐴

𝑃𝐴
=

𝐵𝐶

𝑀𝑃



Q. D is a point on the side BC of a triangle ABC 
such that angle ADC = angle BAC. Show that  
𝐶𝐴2 = 𝐶𝐵. 𝐶𝐷





Q. Sides AB and AC and median AD of a 
triangle ABC are respectively proportional to 
sides PQ and PR and median PM of another 
triangle PQR. Show that ∆ ABC ~ ∆ PQR.







Download the class PDF now ! link in the description.



Homework Questions

1. A vertical pole of length 6 m casts a shadow 4 m 
long on the ground and at the same time a tower 
casts a shadow 28 m long. Find the height of the 
tower. 

2. If AD and PM are medians of triangles ABC and 
PQR, respectively where ∆ ABC ~ ∆ PQR, prove that

𝐴𝐵

𝑃𝑄
=

𝐴𝐷

𝑃𝑀
3. Using Theorem, prove that the line joining the mid-
points of any two sides of a triangle is parallel to the 
third side. 
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